

**MODIFICATION ON SEMI-COMPLETENESS FOR INTEGER SEQUENCES**

JURAJ BOSÁK, ANTON KOTZIG, ŠTEFAN ZNÁM, Bratislava

Let there be given a natural number  $k$  and two sequences  $P = \{p_i\}_{i=1}^{\infty}$ ,  $M = \{m_i\}_{i=1}^{\infty}$  of natural numbers. A sequence  $A = \{a_i\}_{i=1}^{\infty}$  of non-negative integers is called a  $(P, k, M)$ -representation of the integer  $c$ , if

$$(A) \quad 0 \leq a_i \leq p_i \quad \text{for } i = 1, 2, \dots;$$

$$(B) \quad c = \sum_{i=1}^{\infty} a_i m_i;$$

$$(C) \quad \sum_{i=1}^{\infty} a_i \leq k.$$

A sequence  $M$  is called a  $(P, k)$ -sequence, if (D)  $M$  is a (strictly) increasing sequence; (E) any non-negative integer has at least one  $(P, k, M)$ -representation; (F) every member of  $M$  has only one  $(P, k, M)$ -representation.

The aim of the present paper is to construct all  $(P, k)$ -sequences.

Remark.  $(P, k, M)$ -representation of a given number can be interpreted as the weighing of a solid by a set of weights having  $m_1, m_2, m_3, \dots$  units so that each  $m_i$  can be used at most  $p_i$  times and the total number of used weights cannot exceed  $k$ . The  $(P, k)$ -sequence can be interpreted as such an „economical“ system of weights by means of which it is possible to determine the gravity of an arbitrary solid (whose gravity can be represented by an integral number of units) with the following property: the solids with the gravity equal to the gravity of one of the weights of the set can be (under the conditions given above) weighed only by the same weight from the set. In all weighing of this type the weights of the set are put only on one side of the scales.

Theorem 1 of [3] implies the following

**Lemma 1.** *Let  $\{q_i\}_{i=1}^{\infty}$  be a sequence of non-negative integers and let  $\{f_i\}_{i=1}^{\infty}$  be the sequence of naturals such that  $f_1 = 1, f_{j+1} = 1 + \sum_{i=1}^j q_i f_i$  ( $j = 1, 2, \dots$ ).*

Then for all natural number we have: if an integer  $a$  fulfils the inequality  $0 \leq a \leq \sum_{i=1}^n q_i f_i$ , then it can be written in the form  $a = \sum_{i=1}^n a_i f_i$ , where  $a_i$  are integers fulfilling the inequalities  $0 \leq a_i \leq q_i$  ( $i = 1, 2, \dots, n$ ).

**Theorem.** To every  $P$  and  $k$  there exist one and only one  $(P, k)$ -sequence, namely  $M = \{m_i\}_{i=1}^{\infty}$ , where

$$(1) \quad m_i = \begin{cases} \prod_{j=1}^{i-1} (p_j + 1), & \text{if } i \leq r + 1; \\ \prod_{j=1}^r (p_j + 1) + (i - r - 1)d, & \text{if } i \geq r + 1, \end{cases}$$

and 
$$r = \begin{cases} \max \{x \mid \sum_{j=1}^x p_j \leq k\}, & \text{if } p_1 \leq k; \\ 0, & \text{if } p_1 > k; \end{cases}$$

$$d = -1 + (k + 1 - \sum_{j=1}^r p_j) \prod_{j=1}^r (p_j + 1).^{(1)}$$

**Proof.** I. Define the sequence  $M = \{m_i\}_{i=1}^{\infty}$  by the equation (1). We shall prove that  $M$  has properties (D), (E) and (F) and it is uniquely determined.

Obviously  $M$  is an increasing sequence, i.e. (D) is valid. It can be easily shown that for  $k = 1$  the sequence  $M = \{m_i\}_{i=1}^{\infty}$  defined by (1) has the form  $\{i\}_{i=1}^{\infty}$  and it is the only  $(P, 1)$ -sequence. Therefore we can suppose in the following that  $k \geq 2$ . By induction we can easily establish that for  $i = 1, 2, \dots, r + 1$

$$(2) \quad m_i = 1 + \sum_{j=1}^{i-1} p_j m_j,$$

so that

$$m_{r+1} = \prod_{j=1}^r (p_j + 1) = 1 + \sum_{j=1}^r p_j m_j,$$

from which it follows by elementary consideration that

$$(3) \quad d = \sum_{j=1}^r p_j m_j + (k - \sum_{j=1}^r p_j) m_{r+1}.$$

II. Put

$$q_i = \begin{cases} p_i, & \text{if } i \leq r; \\ k - \sum_{j=1}^r p_j, & \text{if } i = r + 1; \\ 1, & \text{if } i \geq r + 2. \end{cases}$$

<sup>(1)</sup> The sum (product) with a lesser upper index than the lower one is defined as 0 (1, respectively).

Define the sequence  $\{f_i\}_{i=1}^{\infty}$  recurrently by the relations  $f_1 = 1, f_i = 1 + \sum_{j=1}^{i-1} q_j f_j$  ( $i = 2, 3, \dots$ ). According to (2) and by the definition of  $q_i$  for  $i = 1, 2, \dots, r + 1$  we have  $f_i = m_i$ . Further, put  $n = r + 1$ . By applying (3) from Lemma 1 it follows that every non-negative integer  $a \leq d$  can be represented in the form

$$a = a_1 m_1 + a_2 m_2 + \dots + a_{r+1} m_{r+1},$$

where  $a_1 \leq p_1, a_2 \leq p_2, \dots, a_r \leq p_r, a_{r+1} \leq k - \sum_{j=1}^r p_j$ . Obviously

$$\sum_{i=1}^{r+1} a_i \leq k,$$

and the equality can occur only if  $a_1 = p_1, a_2 = p_2, \dots, a_r = p_r, a_{r+1} = k - \sum_{i=1}^r p_i$ ; but in such case by (3) we get a  $(P, k, M)$ -representation of  $d$ . Therefore numbers smaller than  $d$  have a  $(P, k - 1, M)$ -representation.

III. From Lemma 1 (for  $n = r + 1$ ) it follows that every non-negative integer  $c$  not greater than

$$\sum_{i=1}^r p_i m_i + (k + 1 - \sum_{i=1}^r p_i) m_{r+1} = m_{r+2}$$

can be written in the form

$$c = \sum_{i=1}^{r+1} a_i m_i,$$

where  $a_1 \leq p_1, a_2 \leq p_2, \dots, a_r \leq p_r,$

$$a_{r+1} \leq k + 1 - \sum_{i=1}^r p_i.$$

Obviously  $a_1 + a_2 + \dots + a_r + a_{r+1} \leq k + 1$ . The equality can occur only in the case of  $(P, k + 1, M)$ -representation of  $m_{r+2}$ ; thus any  $c < m_{r+2}$  has a  $(P, k, M)$ -representation. We shall prove that any integer  $c \geq m_{r+2}$  has a  $(P, k, M)$ -representation as well. Let  $m_t \leq c < m_{t+1}$ , where  $t \geq r + 2$ . Evidently  $c - m_t < d < m_t$ , so that the number  $c - m_t$  has according to II a  $(P, k - 1, M)$ -representation  $B = \{b_i\}_{i=1}^{\infty}$ , whence it follows that

$$c - m_t = \sum_{i=1}^{\infty} b_i m_i,$$

where  $b_i = 0$  since  $c - m_t < m_t$ . Therefore the sequence  $C = \{c_i\}_{i=1}^{\infty}$ , where

$$c_i = \begin{cases} b_i & \text{for } i \neq t, \\ 1 & \text{for } i = t, \end{cases}$$

is a  $(P, k, M)$ -representation of  $c$ . Thus we have proved that every non-negative integer has a  $(P, k, M)$ -representation, i.e. the sequence fulfils the condition (E).  
 IV. Let  $m_j$  be any member of the sequence  $M$ . If  $j \leq r + 1$ , the uniqueness of its  $(P, k, M)$ -representation follows from Theorem 2 of [5]. Therefore suppose that  $j \geq r + 2$  and let  $m_j$  have a  $(P, k, M)$ -representation  $\{e_i\}_{i=1}^{\infty}$ , i.e.

$$m_j = \sum_{i=1}^{\infty} e_i m_i, \\ 0 \leq e_i \leq p_i \quad (i = 1, 2, 3, \dots), \\ \sum_{i=1}^{\infty} e_i \leq k.$$

Denote

$$s = k + 1 - \sum_{i=1}^r p_i,$$

so that

$$d = -1 + s \prod_{i=1}^r (p_i + 1).$$

Suppose that  $j \geq r + 1$ . Then the following equalities and congruences modulo  $d$  hold:

$$s m_j = s \prod_{i=1}^r (p_i + 1) + (j - r - 1) s d \equiv s \prod_{i=1}^r (p_i + 1) = d + 1 \equiv 1.$$

Thus we have proved that for  $j \geq r + 1$

$$(4) \quad s m_j \equiv 1 \pmod{d}.$$

V. From (4) it follows (the congruences being considered modulo  $d$ ):

$$\sum_{i=1}^r s m_i e_i + \sum_{i=r+1}^{\infty} e_i \equiv \sum_{i=1}^r s m_i e_i + \sum_{i=r+1}^{\infty} s m_i e_i = s m_j \equiv 1 \pmod{d}.$$

VI. By a simple way we obtain:

$$\begin{aligned} \sum_{i=1}^r s m_i e_i + \sum_{i=r+1}^{\infty} e_i &= \sum_{i=1}^r e_i (s m_i - 1) + \sum_{i=r+1}^{\infty} e_i \leq \sum_{i=1}^r p_i (s m_i - 1) + \sum_{i=1}^{\infty} e_i = \\ &= \sum_{i=1}^r p_i (s m_i - 1) + k = \sum_{i=1}^r p_i (s m_i - 1) + \sum_{i=1}^r p_i + (k - \sum_{i=1}^r p_i) = \sum_{i=1}^r p_i m_i + k - \\ &= \sum_{i=1}^r p_i = s \left( \prod_{i=1}^r (p_i + 1) - 1 \right) + s - 1 = s \prod_{i=1}^r (p_i + 1) - 1 = d. \end{aligned}$$

VII. From the definition of  $s$  it follows that  $s > 0$ . From V and VI we have:

$$\sum_{i=1}^r s m_i e_i + \sum_{i=r+1}^{\infty} e_i = 1.$$

Therefore

$$\sum_{i=1}^{\infty} e_i = \sum_{i=1}^r e_i + \sum_{i=r+1}^{\infty} e_i \leq \sum_{i=1}^r s m_i e_i + \sum_{i=r+1}^{\infty} e_i = 1,$$

so that

$$\sum_{i=1}^{\infty} e_i = 1,$$

which is possible only if

$$e_i = \begin{cases} 1 & \text{for } i = j, \\ 0 & \text{for } i \neq j, \end{cases}$$

whence it follows that there exist only one  $(P, k, M)$ -representation of  $m_j$ . Thus the validity of (E) for  $M$  has been proved.

VIII. Using induction we shall prove that if  $N = \{n_i\}_{i=1}^{\infty}$  is a  $(P, k)$ -sequence, then  $m_i = n_i$  ( $i = 1, 2, 3, \dots$ ). Evidently  $m_1 = n_1 = 1$ . Suppose that  $m_i = n_i$  for  $i = 1, 2, \dots, j$ . We shall show that  $m_{j+1} = n_{j+1}$ . Let the sequence  $\{b_i\}_{i=1}^{\infty}$  be a  $(P, k, N)$ -representation of  $m_{j+1}$ . If  $n_{j+1} > m_{j+1}$ , then we should have

$$m_{j+1} = \sum_{i=1}^{\infty} b_i n_i = \sum_{i=1}^j b_i m_i = \sum_{i=1}^j b_i m_i.$$

In that case  $m_{j+1}$  would have two different  $(P, k, M)$ -representations, which is in contradiction to (E). Therefore  $n_{j+1} \leq m_{j+1}$ . Analogously it can be proved that  $m_{j+1} \leq n_{j+1}$ , whence  $m_{j+1} = n_{j+1}$ .

Remarks. 1. If  $M$  is a  $(P, k)$ -sequence, then not only every member of  $M$ , but also every non-negative integer  $c < m_{r+2}$  has the only  $(P, k, M)$ -representation. In the special case  $p_1 = p_2 = \dots = p$  this representation corresponds to the representation of  $c$  in the  $(p + 1)$ -adic number system.

2.  $(P, k)$ -sequences are a special case of semi-complete sequences of [1], [3], [4]. If we solve our problem without restriction relative to  $k$  (condition (C)) — which can be interpreted as weighing without limitation of the total number of weights — we obtain another semi-complete sequence  $M = \{1, p_1 + 1, (p_1 + 1)(p_2 + 1), (p_1 + 1)(p_2 + 1)(p_3 + 1), \dots\}$ . Sequences with similar properties were treated in [1]–[8]; representations of arbitrary integers (both positive and negative) are investigated in [5], representations of positive real numbers in [6] and [9].

3. Another modification of our problem can be obtained by omitting the limitation concerning  $P$  (condition (A)); this means when interpreted that only the total number of the used weights is limited but there are no restrictions concerning single weights  $m_i$  of the set. The solution of this problem is the sequence  $M = \{1, k + 1, 2k + 1, 3k + 1, \dots\}$ . If zero is added to the set of all members of this sequence, we get the recurrent basis of the  $k$ -th

order belonging to the empty set [11, pp. 54—55]. An extensive survey of properties of the bases for natural numbers is in [10] and [11]. In conclusion, the authors wish to express their thanks to T. Šalát for his constructive suggestions.

#### REFERENCES

- [1] Alder H. L., *The number system in more general scales*, Mathematics Magazine 35 (1962), 145—151.
- [2] Brown J. L. Jr., *Note on complete sequences of integers*, Amer. Math. Monthly 68 (1961), 557—560.
- [3] Brown J. L. Jr., *On the equivalence of completeness and semi-completeness for integer sequences*, Mathematics Magazine 36 (1963), 224—226.
- [4] Brown J. L. Jr., *A generalisation of semi-completeness for integer sequences*, Fibonacci Quart. 1 (1963), 3—15.
- [5] Brown J. L. Jr., *Generalized bases for the integers*, Amer. Math. Monthly 71 (1964), 973—980.
- [6] Fridy J. A., *A generalization of  $n$ -scale number representation*, Amer. Math. Monthly 72 (1965), 851—855.
- [7] Graham R. L., *On a conjecture of Erdős in additive number theory*, Acta arithm. 10 (1964), 63—70.
- [8] Hoggatt V. E., King C., Silver J., *Problem E 1424 (Complete sequences)*, Amer. Math. Monthly 67 (1960), 593—593, 68 (1961), 179—180.
- [9] Mendelsohn N. S., *Representations of positive real numbers by infinite sequences of integers*, Trans. Royal Soc. Canada, 3 Ser. III, 47 (1952), 45—55.
- [10] Ostmann H. H., *Additive Zahlentheorie I*, Berlin—Göttingen—Heidelberg 1956.
- [11] Stöhr A., *Gelöste und ungelöste Fragen über Basen der natürlichen Zahlenreihe*, J. reine angew. Math. 194 (1955), 40—65, 111—140.

Received March 17, 1965.

ČSAV, Matematický ústav

Slovenskej akadémie vied, Bratislava

Katedra numerickej matematiky a matematickej štatistiky

Prírodovedeckej fakulty

Univerzity Komenského, Bratislava

Katedra matematiky Chemicko-technologickej fakulty

Slovenskej vysokej školy technickej, Bratislava